WA 30.9 Mean, Median, Mode Review Math 30W

Name: AW ECS

1. The median house price in Red Deer, Alberta, is $319 100.00. What does this tell
you about the housing market?

Half the homes in Red Deer cost more than $319 100.00and half cost less
than $319 100.00.

This is average house price in Red Deer.

This is the most common house price in Red Deer.

None of the above.
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2. What is the mode of following data set?

14, 5,13,5,6,14,13,15,13,6,11,7,5,6,5
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3. Aclass of 27 students took a test.
« 9 students received 80%; /37 =C.333
« 5 students received 70%; and 5/ = Q.85
* 13 students received 55%. %127 = LB

What is the mean score for the class?
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4. Determine the value of x so that the mean of the following numbers is 23

28,32,27,15, X

P
AD1RTAFHNS A X _ 3

/{ o wae

— e -l

04X = WS ol and exor
l =13

xS




5. Complete the following questions given the list of numbers below:

8, 26, 32, 29, 27, 32, 36, 25,-36;
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b) If any outliers occur, identify them and list the trimmed data in order.
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c¢) Determine the trimmed mean, median, and mode.
Teimmed yyweon = 9.9
+rinmed medan = a5
Feimmmed Mmede =3

d) How were each of the measures of central tendency affected by trimming the
data and why?
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6. The following prices for the same model of camera are advertised at different
stores:

$1208.00, $1279.00, $1949.00, $1312.00, $1149.00, $1294.00
A 10D, 1379, 1294, 1DV, 1949
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a) What is the mean cost of the camera®
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b) What is the median cost of the camera?
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c) Which of these would make a better measure of central tendency in this case?
Explain your answer.
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7. In a class of 20 students, 10 got 80%, 3 got 85%, 6 got 90%, and the remaining
2020 O%t,udent got 100%. What was the mean for the class?
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8. Mrs. Gaby teaches two math 10 classes. One class has 20 students and has an
average of 68%. The second class has 30 students and has an average of 62%.
What is the weighted average of the two classes?
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9. Mike works as a server in a restaurant. In one night, he earned the following tips:

$8.56, $5.64, $9.57, $10.00, $8.08, $6.11,
SO, SetH, b.ll, Tolb (8.

a) C;Iculate the mean and median tip per order:
mean = B 1.3
Mmedian =% 8.08+ $8.3) - £$8.20
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b} At the end of the night, Mike served one more table. The customers leave a tip ST
that raises Mike’s mean tip per order to $7.63. What was the amount of the final

tip Mik ived? , |
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